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   This question paper has 2 printed pages and 4 parts
PART A:     Answer any FIVE of the following questions                             
           2x5=10  

1. State the meaning of full employment.

2. Explain cost push inflation with an example.

3. What are transfer payments? Give examples.

4. What is green revolution?

5. State any four objectives of the 1991 reforms in India.

6. Mention any two functions of the International Monetary Fund.

PART B: Answer any THREE of the following questions                                              5X3=15

7. Calculate : APC,MPS,APS,MPC
	Y
	C

	0
	50

	100
	125

	200
	200

	300
	275

	400
	350

	500
	425


8. Briefly analyze the demonetization in India in 2016 and its implications.

9. Explain the significance of MSME in the Indian economy.

10. Explain briefly the various components of Balance of payments.
PART C:Answer any TWO of the following questions                                         15X2=30

11. Explain the features of Indian agriculture. Suggest possible solutions for the revival of the sector.
12. Discuss inflation and its causes. Briefly present the effects of hyperinflation.
13. Present an overview of the macroeconomic policies under the NDA regime in India since 2014.
PART D: Answer any TWO of the following questions                                               15X2=30
14. India has made remarkable strides to reduce poverty. Yet, 22% of the population or 270 million people live below the poverty line. The facets of poverty are many in the country. According to the World Bank report of 2016, 80% of the poor in the country live in rural areas, around 50% lack proper accommodation, 35% of the country’s households lack clean water supplies, and 70% of the entire population live in the anti-sanitary conditions. At the same time, there are evident problems with schooling (85% rural locations do not have a school), infrastructure, and child labor.

According to India’s Socioeconomic and Caste Census (SECC), 95% of the rural population cannot afford paying taxes, and over 90% do not have regular jobs. The poverty problem goes along with low rates of illiteracy, as only 64.3% can read or write. While the worst cases of poverty are mostly observed in villages, the urban poor spend about 4/5 of all income on food.
Source: World Bank Report on Poverty (2016)

a) Explain the reasons for poverty in India. (7)
b) Explain  any five measures of poverty alleviation (5) 
c) Is there a relationship between poverty and inequality of income? Explain. (3)
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